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4 4H1H 100 5 100|=2—> 168
5 4H5H 101 4 101|814 & — 149
6 4ARTH 104 6 1025 118
7 4H9H 102 8 103 [#L % 126
8 4H10H 101 4 104|E— 238
9 4H13H 103 8 10578 218
10 4H15H 104 7
11 4H16H 102 6
12 4H20H 105 8
13 4H22H 102 9
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1
2 FEREA—E 8% mm—E
3 B a—F m LSS i BE & B B Bd | mEAA | TIVEBT | WY £ a—F mnf LS8
4 4818 100[2—7 168 5 840 67 907 907 907 908 100{2—> 168
5 4850 10144 % — 149 4 596 48 644 644 643 644 10144 % — 149
6 4R7H 104{E— 238 6| 1428 114 1542  1542)  1542] 1,543 102| % 118
7 4890 102|655 118 8 944 76| 1,020 1,020  1,019] 1,020 103[f1% 126
8 45108 10144 % — 149 4 596 48 644 644 643 644 104[ € —L 238
9 4F13H 103|415 126 8| 1,008 81l 1089 1,089 1,088 1,089 105|% 218
10 45150 104{€— 238 7| 1666 133 1,799 1,799  1,799| 1,800
11 4F16H 102|6% 118 6 708 57 765 765 764 765
12 45208 10557 218 8| 1744 140 1884 1.884] 1883 1884
13 45220 10265 118 9] 1,062 85| 1147]  1,147| 1146] 1147
14 o] 11439 11441] 11434] 11444




FZZAHRE REMELRE
T vILR Level.24
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1 M HAZR57-00H DT, g &I EEEINTES,
2 EMmiBA—E
3 =EN) a—F m L=<k HE &t
4 44652 100 =VLOOKUP(C4,$N$4:$P$9,2,FALSE) =VLOOKUP(C4,$N$4:$P$9,3,FALSE) 5 =E4*F4
5 44656 101 =VLOOKUP(C5,$N$4:$P$9,2,FALSE) =VLOOKUP(C5,$N$4:$P$9,3,FALSE) 4 =E5*Fb
6 44658 104 =VLOOKUP(C6,$N$4:$P$9,2,FALSE) =VLOOKUP(C6,$N$4:$P$9,3,FALSE) 6 =E6*F6
7 44660 102 =VLOOKUP(C7,$N$4:$P$9,2,FALSE) =VLOOKUP(C7,$N$4:$P$9,3,FALSE) 8 =E7*F7
8 44661 101 =VLOOKUP(C8,$N$4:$P$9,2,FALSE) =VLOOKUP(C8,$N$4:$P$9,3,FALSE) 4 =E8*F8
9 44664 103 =VLOOKUP(C9,$N$4:$P$9,2,FALSE) =VLOOKUP(C9,$N$4:$P$9,3,FALSE) 8 =E9*F9
10 44666 104 =VLOOKUP(C10,$N$4:$P$9,2,FALSE) =VLOOKUP(C10,$N$4:$P$9,3,FALSE) 7 =E10*F10
11 44667 102 =VLOOKUP(C11,$N$4:$P$9,2,FALSE) =VLOOKUP(C11,$N$4:$P$9,3,FALSE) 6 =E11*F11
12 44671 105 =VLOOKUP(C12,$N$4:$P$9,2,FALSE) =VLOOKUP(C12,$N$4:$P$9,3,FALSE) 8 =E12*F12
13 44673 102 =VLOOKUP(C13,$N$4:$P$9,2,FALSE) =VLOOKUP(C13,$N$4:$P$9,3,FALSE) 9 =E13*F13
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H J K L M N 0 P
1
2 10.08 EMm—E
3 o D A oA mEAE A BT N5 a—F m4 ==K
4 |=G4*$H$2 =G4+H4 =ROUND(I4,0) =ROUNDDOWN(14,0) =ROUNDUP(14,0) 100 J1—7 168
5 [=G5*$HS$2 =Gb+Hb5 =ROUND(I5,0) =ROUNDDOWN(I5,0) =ROUNDUP(I5,0) 101 Y4 x— (149
6 |=G6*$H$2 =G6+H6 =ROUND(I6,0) =ROUNDDOWN(16,0) =ROUNDUP(16,0) 102 BHE 118
7 |=G7*$H$2 =G7+H7 =ROUND(I7,0) =ROUNDDOWN(17,0) =ROUNDUP(I7,0) 103 IS 126
8 |=G8*$H$2 =G8+H8 =ROUND(I8,0) =ROUNDDOWN(18,0) =ROUNDUP(18,0) 104 E—JL 238
9 |=G9*$H$2 =G9+H9 =ROUND(I9,0) =ROUNDDOWN(19,0) =ROUNDUP(19,0) 105 =P 218
10 [=G10*$H$2 |=G10+H10 =ROUND(I10,0) |=ROUNDDOWN(I10,0) =ROUNDUP(I10,0)
11 [=G11*$H$2 [=G11+H11 =ROUND(I11,0) |=ROUNDDOWN(I11,0) =ROUNDUP(I11,0)
12 [=G12*$H$2 [=G12+H12 =ROUND(I12,0) |=ROUNDDOWN(I12,0) =ROUNDUP(I12,0)
13 [=G13*$H$2 |=G13+H13 =ROUND(I13,0) |=ROUNDDOWN(I13,0) =ROUNDUP(I13,0)
14 AEt[=SUM(14:113) |=SUM(J4:J13) =SUM(K4:K13) =SUM(L4:L13)




